
Jeff set off at 11:55, his journey took 
35 minutes, what time did he arrive?
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See how you get on with some 
of these maths challenges!

A driver needs to fill up his tank to 500 litres and only has 240 in his tank, how much more does he need to fill it up?

Work out the numeric value of each vehicle to get the answer!

Work out the sums on the car and match them to the 
corresponding colours on the right!HINT:

NUMBER!NUMBER!
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Jess finishes work at 23:00. 
The time is currently 21:15, 
how long does she have left? =7 =6
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